MATI1500-04/06 04F Test 1B Print Name (Last, First) |_.

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary), and use
arrows and equal signs when appropriate. Always simplify expressions. BOX final short answers. LABEL
parts of problem. Keep answers exact (no decimal approximations, if possible). [See long instructions on
reverse). ' :

a) Mahe e o\fagmm showing a "‘gp[m\ CCM"Vlﬁq) fum choen grﬁp"\ Y= ‘F(”), (abeling t+he
axes, and denbify o Pa;ﬂ,uqn on the ¥-axts and connect 1 -fw'i'h? corvesponding Poi:ﬂ"dq
the gmp\n and then over tothe y-axis, Then locate g nearby t:um\- " ath'to s gt
and repea\- . Then conneck The two ?om'\'s on the 3#—1911 (secemtline Segméni“) avict dvaw
w1 the remaming stde(s) ofthe natumal thangle with thishypdenuse.  Label the two
other sides of thic angle by their- (signed) lengths p wrte down an e« prossion Ctal
the secankline slo?e. Mcee and Hs Umid My, A
b) Use this it definthon o evaluate the tangert- line slo pe for £(=)= Y a-X=a,
) Use your resuttto wnte the equahion of the tangent line to f at x=a, :
wWhatare the X and y inlercepts of the fangedt bne ?
d) PiO'l‘ fand ‘{"’“S 'l'angeﬁH)ne w'ﬁl’) erd’)ndoga and Mafee a rvugl') 5%3‘\':]’7 =£\M\‘m“‘_g°-l Seg,
tabeling Heclemorke with kcg valuer , Doesi- loole mght 7 (TF het, say ol ), Explain,

@ f(x)::' X&_'jl ¥ ZA T< this funchon co‘n’hhum_goq the ewhre veal lm&\?
o Beplams why  ~* ¢ orwhy not usig hink netation .
2"- ?_-»y) X<Z Malze a 'fbu,gh S\e.e"'th vf- ‘}he @nc:ﬁan, -

@ ‘f(X\t A=Y a) Evaludte using reasoning , not fechnolugy readont
X @ im £6) @ b £60 T) Im $60 @ im 560 o bk 62
X0 X-en ¥ =3* R X3

b Does ,F have any honzomtsl agjn'\tg{-ole';? jzf S0, what- are thetr ec{lucfhurls and iy whicly

o) Does f have any vertical anar'hp'H'e; 7 TFso, yihat are thewr equetiong?

d) ‘wh'erc‘ dees f Cross ‘H\e -x-aw's_ 7 7 |

Q) P ()= ~| have a soluhon 7 Show your work.

£) Use allof the above t.nf;omaﬁon fo sketeh the graghof £. DoasT¥ lovle ght
'cmnParc-d %?W %ohndogy Pln'\'? What jmgle windouy x::q..b) g:c,.d
shows all of this behavior dearly 7 (Thisis o judgementcall - no exack nuymber
- yungs can be satd 4o be the ome nght- answery ot 1ough values cfthe Window - i

< given. )

Braluate troge {imils 3 ex?lmm"?q by reasontng out what \nappens iy the Limit |

. l ~ \
& im = B hm =
) X306 2 4+e wsw 24 EXE

© Wouldthe reasoning You used 1 o) ana b) SHIl wock If 3 weve replaced by
306 0_(' 0 .OG?’ ? E-XP[,q'\q .o _ R R



